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SSC Practice Set-12

Ram and Hari can cut 12 kgs nuts in 2 days.
After 5 days, Hari left the work. Ram took 8
more days to cut the rest of the nuts. If total of
58 kgs of nuts were cut, the time taken by Hari
to cut 10 kg of nuts is
T 31X &4 12 fen fidt 2 7 ¥ @vre a&ha R) 5 T g
T HH BIT HT I AT 21 TW & 99 {7 Fex 7 8
fe7 o & afg Fet foem fd wred § 8 fa7 o &
aﬁw%%mmﬁ?ﬁgﬁaﬁ 10 f&.m ft wrew
¥ foraan W & m?

(a) 1days (b)2days (c) 3days (d) 4 days
A trader marks his goods in such a way that
after following a discount of 10% he gains 15%.
If an article costs him Rs. 720, his marked price
is

Ush =AU AU 7T YT a1 Afhd &Ial § Tk 10% i
qziﬁéamaﬁls%mwwﬁmﬁl afg forelt avg &t
gaﬁam?o Ut § At IWRT Afha qed TRt

?
(a) Rs 920 (b) Rs. 900 (c) Rs. 820 (d) Rs. 950
If a certain amount is fully distributed A,B & C
in such a way that A receives 1/2 of the amount,
B receives 1/3 of the amount and C receives Rs.
1200, then how much money would A receive
gfe &g fafyga Uivr A, B iR ¢ ¥ gt WE 39 7&K
faudta &t oIt € T A &1 Tf¥n &1 1/2 9, B &t iy
1 1/3 9 3R C & € 1200 e § @ A &t fwat
i firerit?
(a) 4000 (b) 3600

(c) 3600 (d) 1800

The selling price of an article is gth of its cost

price. Then the gain % is

Torelt ag o foeht Hodr 3T @NT 9o &1 8/5 1 af &e
ma%m ?? N o

(a) 20% (b) 28% ()60% (d) 68%

If the salary of Manoj is 40% less than that of
Subhash, then by how much percentage is the
salary of Subhash more than that of Manoj?

gfe AT T da AN & da7 d 40% HW §, 0 A HT
WW%W%WWW%’

(a) 60% (b)GGZ% (c)66§% (d) 65%

A passenger train running at the speed of 80
kms/hr leaves the railway station 6 hours after
a goods train leaves and overtakes it in 4
hours. What is the speed of the goods train?

10.

11.

12.

13.

14.

80 fawtit/der &t wifd @ o @ It e, AennEt &%
RYN Bigd & 6 U2 aIE o7 RYM Siegdt ¢ 3 4 92 7
3TV AW Trwet St &1 WIS @ i Farsu?

(a) 32 kms/hr (b) 50 kms/hr

(c) 45 kms/hr (d) 64 kms/hr

How much simple interest will Rs. 4000 earn in
18 months at 12% per annum?

® 4000 WX 18 WIE ® 12% dlfteh 1 &t & & femen
|G &1t 3T ghm?

(a)Rs 216 (b)Rs.36  (c) Rs. 720 (d)Rs 960

Ifa+ 1 = 2, then the value of a’®+ % will be
a a

trﬁ;'a+1:2?ﬁa5+%ammwgﬁ'rrr?
a

a
(a) 0 (b)1 (c)3 (d) 2
2
The value of (2+f—4J_ is
2-3
(2+‘/§—4ﬁ 1 U
2-.J8 j
(a) 36 (b) 3643 (c) 49 (d) 49 + V3

The mid point of AB and AC of the AABC are P
and Q respectively. If PQ= 6 cm, then the side
BCis

AABC & AB 3R AC & wen fag ®wwwnr : P =ik Q &1
gfe PQ = 6 |t dt e BC Twat gnii?

(a)10cm  (b) 12 cm (c)8cm (d) 14 cm

The difference between the largest and the
smallest angles of a triangle whose angles are
in the ratioof 5:3:10 is

& U frye, s &1 5: 3: 10 & U & 8, 3k
wﬂa@ﬁa@@iaﬁw%ﬁa%&mw%’
(a) 20° (b) 30° (c) 50° (d)70°
If sin6 = /3/2 and 0° <6< 90°, then the value
of tan(®-15°)is
T sinB= /3 /23T 0° <6< 90°d tan® - 15°) T

A\ T §?

(a)1 (b) V'3 (©1/+3 (d)2

Find the greatest number that will divide 390,
495 and 300 without leaving a remainder

T HaQ TE A 19 HiT S 390, 495 3R 300 F
forr 12 vvwe B2 fawfsa @t 812

(a)5 (b) 15 (c) 25 (d) 35

The average age of 30 boys __ increases by one
year. The teacher's age in years is
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1S.

16.

17.

18.

19.

20.

21.

T& ®el | 30 6igHhi &t 31 3 10 ¥ &1 Il 37K
g &t omg o faen oft U @ offad U o W@
ST e st oy faRat 87

(a) 38 (b) 40 (c) 30 (d) 41

The value of

( 1 | 1 | 1 )
p-nn-q9) (m-9@-p (@-p)p-n.

( 1 1 1 )
e N
p-nn-q (m-g)@-p) @-p)(p-n)

U= & 27?

(a) 1l (b) 0 (c) p+g+n (d) 2n/p+q

2 2 2
If a Jb e Jy then
b+e ct+a a+bd
1 1 1 .
+ is
l1+a 1+b 1+4c¢
2 2 2
WF({ a o b o C -1 '&ﬁ ?‘ﬁ
b+c c+a a+b
1 1 .1 mromen 2?

l1+ta 1+b 1+¢

(a)1 (b) 2 (c)3 (d)4

If O is the centroid and AD, BE and CF are the
three memdians of AABC with an area of 96 cm
2 then the area of ABOD in cm? is

Ifg 96 A2 FA%He ATt AABC &7 &5 O & 3TAD,
BE a91 CF 34t o9 wiftand §, @ ABOD &1 &9%e
A2 § feman grm?

(a) 8 (b) 12 (c) 16 (d) 24

Two chords AB and PQ of a circle interest at D
inside a circle . If AD=4 cm , DB= 6 cm, QD=3
cm, the length of PQ is equal to

& g9 @i & Siar AB 31X PQ T&-T8R &l g9 & Wi
fog D WX @redt 81 9§ AD=4 cm ,DB=6 cm, QD=3
cm T PQ & @ars fads awEy 87
(a)1lecm  (b) 8 cm ()9 ecm

If Mﬂg = é then the value of sinf is

cosech — sinf
equal to

afe cosecH + sinf g A sin6 Fraam &2

cos ecH — sinf
(c) 3/2

(b)1/~2
A cylindrical vessel of radius 4 cm contains
water. A solid of radius 3 cm is dipped into the
water until it is completely immersed. The
water level in the vessel will rise by
T& 4 9t Been aret SeATe ada o urt 81 3 9t e
T U S Tl Uit | A deh AT ST @ e ek I8
T A€ T g9 0| &6 § el 1 W fhaA s S
(a)35cm (b)225ecm (c)2cm  (d) 3.8 cm
The angle of elevation of the top of a tower
from two horizontal points (in opposite sides)
at distances of 25 meter and 64 meter from the

(d) 10 cm

= d1
(a)2 (d)

22.

23.

24.

25.

base of tower are x and 90°—x respectively. The
height of the tower will be

T 2l & da @ 25 i iR 64  w g w (faudia
ﬁwaﬁﬁ) A gfa fogel @ efav & vid ux o= @i
WU x 3T 90° —x & | AR Ht HATE Tt FHAt?
(a) 39 m (b) 89 m (c)16m (d)40m

The bar-chart is showing the number of
accidents in a city during the first six month of
a year. Examine the bar chart and answer the
following questions

TET fqu 7T aR-91E § 99 & U9W 6 HIg H g3 gHeAIS &t
gwasrh’hé%n UG!G R R FFrerrEa g
W

Y,

45 43

40

35 35

30 30
27

o5 25

20

Number of Accidents

15

10

5

0 Jan Feb Mar Apr

Month
What is the % of accidents in the month of April
to the total accidents in the city?
TS UTE | g8 gHedd, e H g8 ool gueTsil &l fehadT
wiaer 87
(a) 15% (b) 20% (©)22% (d) 24%

Compared to the month of January, what is the
percentage of decrease in the month of
Februrary?

SHadt d 3t & H, Wit § g3 ghe T
mmiﬁv o w

(a) 25 (b) 24 (c) 30 (d) 27

By what number, is the number of accidents
that occurred in April is greater than the
average number of accidents that occurred
during the 6 months period?

May June

et ¥ g3 3 ®t WEAT, 6 WE W g3 goeqnsi &t
sitea wE | foa-t afee 22
(a) 1327 (b) 8 (©9 (d)11

Percentage of decrease in the nmber of
accidents from May to June is:

g ¥ I F o g3 geTen @t aen § & & whv

3 6 6

(a) 15é% (b) 27 =% (©)22=-% (d)18=%
7 7 7 7
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— ANSWER KEY
1. (d) 2. (a) 3. (c) 4. (c) 5. (c) 6. (a) 7. () 8. (d) 9. () 10. (b)
11. (d) 12. (@) 13.(p)  14.(d)  15.(b) 16. (@)  17. (c) 18. (@)  19.(a)  20. (b)
21. (d) 22.(d) 23.(b) 24.(a)  25.(c)
HINT & SOLUTIONS
1. T % wEEE (efficiency) = R | Sp_8 L am-=3
BR ! wEiemd (efficiency) = H. i Cp 5
(R+H)x 2= 12kg i A = S % 100%
(R+ H)1fA® = 6kg L) 5
5 &7 (R + H) <1 7 < fepam ; =60%
: 5 T& <1 11 1 hTH = 6 x 5 = 30 fehmlo | 5 2
el T % BN {1 T w = 58 - 30 | A0%=g
=28 foRTT0 i FHelist o TN
| ”s L%qum_ 58 e i F—3
TH &l efficiency R =2 !
8 — =y : ~20%
R=3.5 i 25100 = 29
R+H=6 ! 3 3
H=2.5 E = 662%
RAamEE = | 3
efficiency | 6. WM ATETTISt @ A = « feRito/wer
S i 6 e T ATeTTTE! BN el g = =e x T
2.5 i = x x6 = 6x fFHlo
= 4 1o ! 3T 4 = H Tl 0 Aemel 51
2. Mp Cp i =x><4=4x1=°|'75ﬁ0
100 + P% 100 - D%, D% =discount? | 10 W # WSl gRI 7@ gl
100 + 15 100 - 10 P%= profit% i = 6x + 4x
115 90 ! = 10x ferTito
23 18 i -+ 80 foRtfi/=ruat =it =Tel ¥ =t aTelt A e Thad 4 52
18 f2 = 720 %o i Jordt € 3R WS Al overtake A T
17 = 40%o ; . ATETEl B8R =eft gt (10 =i #)
239 = 23 x 40 = 920 Fo i = A M BT 4 52 H et o
: ! 10x = 80 x 4
3. um e U = 6 Fe ! 10x = 320
Aaﬁﬁwwzlxm{ﬁ?:3?{ﬁ?ﬁ ! x = 320 foRrHio/zuar
% ! HITIEL ) =Tt = 32 fRtito U
B el 91 = = x 6 gfe = 2 |
3 1 7. q@EA (P) = 4000
W%W:CﬁWW: e () = 12%
192 = 1200 %o : i _18
A fie = 39fe = 1200 x 3 i (@) = 187 = Eaﬁ
- 3600 %o e e (s = PXTXE
: 100
4. fasa go (Sp)zﬁxmio (Cp) i _ 4000x12x18
5 g | 100 x 12
Sp=—-Cp i =720
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8.
a

a+l=2

Ig hadl adt IFE e ¢ = 1

9. 243 V2
(2—J§_4J§

2++/3 _ 2+f 2+4/3

2-43 2J—2+I

T92_3
= 4+43+2x2J3
=7+443
(7T+ 43 -43)%2 =72 = 49
10. AP_AQ_PQ _1
AB AC BC 2
A
P Q
B C
6em 1
BC 2
BC=12cm
11. TE BleT ;. HEd 981
JA . /B : /C
1 3 3
5 3 10
FN = 7 g
=1 ShIoT T 4T = 180°
18 gffe — 180°
19 — 10°
79 — 70° Ans.
2. sinf = ?3 8°< 8 < 90°
sinf = —3= sin60°
8 =60°
tan(® - 15°) = tan(60 - 15)
= tan45°
=1 Ans.

13. 9% @t ¥ I @& S 390, 495, 300 F O NuwHS

B1e

fawfsa &

= HCF of 390, 495, 300

300)390(1
300

90)300(3

HCF:

30)90(3
90

X
30)495(16
30

195
180

15)30(2
/ &

14. First Method :
30 TSI i ST 3T = 10

P 3 = 30 x 10 = 300 T4

(TSl + Yeh) i ofi|d g =10+ 1 =11 a9

Fer g = 11x 31
= 341

fRreren =t 3T = 341 - 300

= 41 99

Second Method :
foersh & wfirel B W 3fiEa 91y

TGS = 199

30 BT i 9 3T = 30 a4
freres it airgd o1y = 119
et ol et 3T = 4198

Ans.

15. First Method :

1

(p-n)n-q)

R S S
(n-g@lg-p) (@-pp-n

(p-n(n-qlg—p) I TON T 9 FH R
(p-nn-qglg-p)

(p-nn-glg-p)p-n(n-q
(p-mn-qglg-p)

(p—n)n-qlq- p)Xn-qlg- p)
(p-nn-qlg-p)

(p—n)n-qlq- plqg-p)p-n)

(p-q@+(p-n)+(n-qg]

(p-nn-glg-p)

(p-n)n-qlg-p)

x0=0

Second Method :
Put the value & get the answer.

Put
1

— 4
(1-2)(2-3)

1
1

A

(=
1
1

DO | =

— 4
(2-3B-1

+ +
- (-D(2)

N | =

P=1n=2q=3

1 1

B-D1-2
1

(2(-D
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16. First Method :

a? o b2 o 2 -1
b+ec c+a a+b
2
9 -1=a’=b+c .4
b+c
b2 9 ..
=1=b“=c+a ...311)
c+a
c? 9
=1=c“=za+b ...(1i1)
a+b
1 d 1 1 _o
l+a 1+b 1+c¢
a b c
+ +
al+a) bA+b) c(l+e)
a b c
= +
a+a? b+b? c+c?
o a i b c
a+b+c b+a+c c+a+bd
:a+b+c:
a+b+c
Second Method :
a? o b2 o 2 -1
b+ec c+a a+b
Put the value, get the answer
a=2b=2c¢c=2
1 1 1 1 1 1
+ = + +
l+a 1+b 1+4c¢ 142 1+2 1+2
18
3 3 3 3
17. A
F
1
I
':
B D C

WO 19T ABC #hi <t sIrer i & farsford e 21

- TIFFERT A I 2 aUeR i B fawfia e @
. et A BOC =1 <1 e 9 § fasfea s

AAOC = ABOC =AAOB

:%:32cm
3

32

ABOD:AODC:—E:IGng

B
TH S §—
AD x BD = PD x D@
4x6=PDx3
PD =8
PQ = PD + DQ
PQ=8+3=11cm.

19.

cosect + sinb _ 5
cosecH - sin6 3

Let cosecH = x

1
x+ =
X

1
x—_
x

(x2 + Dix

(x2 - Dix

xZ2+1

x2—1

Put X
X

w o

cosecH

sinf =

3x2+1)
3x2+3

Il
LU NN NN Wl ot wl ot

s B
[\V]
inn
2~
o &
| [\
|
Ot
=

&
I
N

K
I
NI =D N N R 00

cosecH

w
.
=}
[==]
I

20.

= >==2—5

«<— 4cm —>

ol el o1 ST = T3 =61 STRIH

%J‘U‘3 = Base Area x Height

-l xH
§><—><33:rc><(4)2><H
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4999 - 16xH
3
9_H
4
H=225cm
21. A
h
90 — x X
D
2 25m ¢
64m
In A ABC,
h .
tan(90 —x) = — ...(@)
25
In A ABC,
h
tanx = —
4
cot(90 — x) = i (11)
”
From (i) and (ii),
h 64
= =
25 h
=y h? = 25x 64
= h=5%x8=40m

22. April ¥ gHemd = 43.

X H FA AT = 25+ 19 + 30 + 43+ 35 + 27

=179
43 % 100% = 24 .02%
179

23. sadt # g8 ge i = 25
T H g gEle = 19
25 19

-

-6
6

FH = — x 100 = 24%
25

24. ¥ § gHeqm = 43
179

6 HIE &1 3719d = —~ = 29.83

6
=13.17

25. wg # guenm = 35 .
A H gEEAT = 27
35 27

-

-8

awrﬁ:EXwO%:—x
35 35

<4 160

6

22—-%
7

8

100%%




